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Guess Paper – 2009

Class – XII
Subject – ACCOUNTANCY  
MM 80             





             TIME 3Hrs                     
General Instructions :—

1.
All questions are compulsory.

2.
This question paper contains two part A & B.

3.
Marks are indicate every question.

4.
All parts of the questions should be attempted at one place.
1. During the year 2007 a club received Rs 200000 as entrance fees. According to accounting policy the club 40% of the entrance fees is to be capitalized. How will you deal with entrance fees received by Non Profit Organisation?                                               1
2. X & Y are partners in a firm sharing profits in the ratio of 3:2. They had advanced to the firm a sum of Rs 30,000 as a loan in their profit sharing ratio on July 1st 1998. The partnership deed is silent on the question of interest on loan from partners. Compute the interest payable by the firm to the partners assuming the books are closed on 31st Dec. each year.                                                                                                                           1

3. What is meant by over subscription?                                                                         1

4. What is capitalization of super profit method for valuation of goodwill?                 1

5. Ram and Shyam share profits in the ratio of 2: 1. Their sales were Rs 100000 for the year ending 31st March 2005 and earned a profit of Rs 10000. On July 2005 Ram Died, sales up to this date was 60000. Calculate Ram’s share of Profit.                                           1  
6. Show how would you deal with the building fund of Hindu public School              3       
                   Building fund as on 31st March 2006                                           1000000
                   9% Building Fund Investment as on 31st March 2006                  1000000

                   Donation collected for Building during the year 2006-2007          500000

                   Interest received on building Fund investment 2006-2007             450000

                   Expenditure made on construction of Auditorium 2006-2007       14,50000 
7. What is calls in Advance? Discuss briefly its accounting treatment along with its interest thereon.                                                                                                                           3
8. A company redeemed 2000,15% debenture of Rs 100 each at o premium of 10% by converting them into equity shares of Rs 10 each at a premium of Rs2.5 pre share. The company also utilized Rs 50000 out of profit to redeem 500 debentures. Give journal entries.                                                                                                                            3

9. Sanjeev, Bipul and Vinod are partners in a firm sharing profit in the ratio of 5:4:2.On 1st April,2006 they decided to share profits in the future in the ratio of 4:3:2. On this date General Reserve was Rs 34,900 and loss on revaluation of assets and liabilities was Rs 5200. It was decided that adjustment should be made without altering the figure of assets and liabilities in the balance sheet. Make adjustment by single journal entry.                    4
10. Ajay and Amit are equal partners. Their capital account on 1st January 2007 stood at Rs 85000 and Rs 80000 respectively. The profit of the year 2007 amounted to Rs 50000. Drawings of Ajay and Amit for the year were Rs 8000 and Rs 6000 respectively. Following were the terms of partnership deed                                                                               4
i. Interest on Drawing was to be charged for 6 months @ 10 % pa

ii. Partners were allowed interest on capital @ 10% pa

      iii     Ajay was entitled to a salary of Rs 9000 and Amit a commission of Rs 2000pa. 

        You are required to prepare Profit and Loss Appropriation Account for the year ending 31st Dec 2007  
11. Reva ltd forfeited 700 equity share of Rs 100 each (Rs 80 called up) issued at a premium of 30% for non payment of allotment of Rs 40 (including premium) and 1st call of Rs 20.Out of the forfeited share 400 shares were issued to Mimi for Rs 70 ,as Rs 80 paid up. Remaining share was issued for Rs 27000 as fully paid up. Journalize.                   4
12. X and Y are partner sharing profit and loss in the ratio of 2:1. They admitted Z into partnerships for ¼ share which he acquires equally for X and Y.The following is the extract of their balance sheet as on the date of Z’s admission 
                   Capital X   Rs 60000
                   Capital Y    Rs 40000

                   General Reserve Rs 12000

                    Goodwill         Rs 15000

                   Investment     Rs 14000

On Z’s admission Goodwill of the firm was valued at Rs 20000.Z brings Rs 30000 as capital and only Rs 3000 towards his share of goodwill. 
Investment was taken over by X at Rs 20000.
Pass journal entries in the book of the firm on Z’s admission.                                       6

13. a) A Ltd. issued 5,000, 13% debentures of Rs.100 each at par and raised a loan of Rs.80,000 from Bank, collaterally secured by Rs.1,00,000  13% Debentures.  How will you show the Debentures in the Balance Sheet of the company assuming that the company has recorded the issue of Debentures as collateral security in the books.

     b)Amta Lld has Rs 3000000 outstanding 13% debentures of Rs 100 each. Company purchase Rs 20000 debenture at Rs 96 and Rs 30000 debenture at Rs 97 from open market for immediate cancellation. Pass journal entries for redemption of debentures.       (3+3)

14. The following is the Receipts Payments account of Gandhi Club, Modi Nagar for the year ending 31st December,2006 :                                                                                         6
	               Receipts
	  Rs
	       Payments
	    Rs



To Balance b/d (1.1.2006)

     1,500      By salaries

           1,400


To Subscriptions (2005)

     1,400      By Advertisement
               750


To Subscription   (2006)

     2,100      By Furniture
                         1,300


To Subscription   (2007)

     1,200      By Investments(


1,500


To Donations


                 1,460      By News paper


     50


To Legacy         


     1,540      By Creditors
                        2,000


To entertainment profit

        600      By Balance c/d (31.12.2006)      2,845


To Interest on Investment

          45     







    ______




______







     9,845




9,845




________________________________________________________________________
On 1st January 2006, the assets and liabilities were:


Building Rs. 8,000, Furniture Rs. 2, 700, Creditors Rs. 2,000.


Adjustments:

(i) Total members 250, each paying Rs.10 as Annual subscription

(ii) Investment was made on 1st July @10p.a

(iii) Salary has been paid up to 31st October,2006 only.

Prepare Income and Expenditure account for the year ending 31st December, 2006 and Balance Sheet on that date.                                                                                          

15. The Balance sheet of Mona,Minty and Rosy who were partners in proportion of their capital ,was as follows on March,2004:

	Liabilities 
	Amount
	Asset 
	Amount

	Sundry creditors
	3500
	Cash at bank
	10,000

	Capital accounts
	
	Debtors               9000
	

	                          Mona 
	10,000
	Less :Provision    500
	8500

	                           Minty
	30,000
	Stock 
	15,000

	                           Rosy 
	40,000
	Fixed asset
	50,000

	
	83,000
	
	83,000


Rosy retires on the above date the following adjustment were made:

(a) The fixed asset are to be depreciated by 10%

(b)  Out of insurance premium Rs 18,00 be carried forward to unexpired insurance

(c)  A provision of Rs 4000 be made in respect of outstanding bills for repairs

(d)  The goodwill of the entire firm is valued Rs 21,600.

(e)  The provision for doubtful debts is to be brought upto 5% of debtors

(f) The capital of the new firm was fixed at Rs 60000.Adjustment to be made through cash.

 Prepare necessary ledger accounts  and balance sheet. Prepare Rosy’s Loan account

8







OR
The Balance sheet of Pritam Pintoo and Pasta was as follows as on 31st March 2004:

	Liabilities 
	Amount
	Asset 
	Amount

	Capital        Pritam
	25,000
	Machinery 
	30,000

	                   Pintoo
	20,000
	Investments 
	40,000

	                   Pasta
	20,000
	Debtors 
	10,000

	Trade creditors
	35,000
	Stock 
	20,000

	Reserve fund
	20,000
	 Bills receivable 
	2000

	
	
	Cash in hand
	18,000

	
	1,20,000
	
	1,20,000


They shared profits in ratio 5:3:2Pasta unluckily died on June 12, 2004 in an accident. On death every partner is entitled to:

(a) his capital as per last balance sheet

(b) his share in any reserve

(c) his share in profits till the date of death on average profits on last three years + 20%

(d) his share of goodwill based on four years purchase of average profits of previous three years which were as follows: Rs 80,000 Rs 90,000 and Rs 40,000

his drawings upto his date of death were Rs 10,200.The investments were sold for Rs 40,000 and the executor’s of Pasta were paid .Show the executor’s account and give journal entries
8
.16 X Limited invited applications for 11,000 shares of Rs. 10 each issued at 20% premium, payable as:                                                                                                                8
On application


-Rs 3 (including Re. 1 Premium)

On Allotment


-Rs. 7  (including Re. 1Premium)

On 1st Call & Final Call
- Rs 2

Applications received for 24,000 shares

Pro rata Allotment were made as follows.

Category I    : One-fourth of the shares applied were allotted 2000 shares.

Category II   : 1/2 the shares applied were allotted 9000 shares.

Remaining applicants were rejected.

 Excess of Application money was adjusted towards sum due on allotment.Mr. Mohan holding 300 shares out of category II failed to pay allotment. His shares were immediately forfeited. All the forfeited shares were reissued for Rs 7, as Rs 8 Paid up. The final call was made thereafter.  Pass Journal entries for above transactions.


     OR


AB Ltd. invited applications for 1,00,000 Equity shares of Rs.10 each, payable as Rs.2 on application, Rs.3 on allotment and the balance on first and final call. Applications were received for 3,00,000 shares and the shares were allotted on a pro-rata basis. The excess application money was to be adjusted against allotment only. M, a shareholder, who had applied for 3,000 shares, failed to pay the call money and his shares were according forfeited and reissued at Rs.8 per share as fully paid. 

     Pass necessary journal entries and cash book.


           PART B (ANALYSIS OF FINANCIAL STATEMENT)

17.Paid Rs 400000 in purchase of shares of Bajaj Auto and received a dividend of Rs 30000 after the purchase. Calculate net cash flow and state the type of activity.                                      1
18. What is meant by cash equivalent. Give an example.                                                     1
19.Debt equity ratio of Hidalgo is 2:1. They Sold a machine of Rs 100000 at a loss of 20%.State whether the present debt equity ratio will increase, reduce or remain unchanged due to this transaction. State one reason                                                                                                    1
20. In a company’s balance sheet, give three item each shown under ‘Secured Loan ‘and Un Secured Loan’.                                                                                                                       3
21. Prepare a Comparative Income Statement with the help of following information.         4

	Particular
	2005
	2006

	Sales

Cost of Goods sold

 Indirect Expense

Income tax
	300000

50% of sales

30% of Gross profit

30% of net profit before tax
	200000

40% of sales

30% of Gross profit

30% of net profit before tax


22. a) Current liabilities of a company are Rs 560000, current ratio is 5:2 and quick ratio is 2:1. Find the value of stock.
b) Rs 300000 is the cost of goods sold, Inventory turnover 4 times, Stock at he beginning is 3 times more than stock at the end. Calculate the value of opening and closing stock.      
23. From the following balance sheets prepare a cash flow statement :

	Liabilities
	31:12:02
	31:12:03
	Assets
	31:12:02
	31:12:03

	Share capital
	2,50,000
	3,00,000
	Land 
	2,10,000
	3,00,000

	Creditors 
	28,000
	32,500
	Machinery 
	1,20,000
	82,500

	Loan from bank
	80,000
	45,000
	Stock 
	45,000
	25,000

	Outstanding expense
	     ---
	10,000
	Debtors 
	35,000
	45,000

	Profit and Loss A/c
	60000
	80000
	Cash 
	8,000
	10,000

	
	
	
	Bills receivable
	   ----
	5,000

	
	4,18,000
	4,67,500
	
	4,18,000
	4,67,500


Information: Machine costing Rs 40,000 , having book value of Rs 15,000 was sold for Rs 35,000   
                      Depreciation on Machinery Rs 12000                                                                          6
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General Instructions :—

1.
All questions are compulsory.

2.
This question paper contains two part A & B.

3.
Marks are indicate every question.

4.
All parts of the questions should be attempted at one place.

1. During the year 2006 a club received Rs 100000 as entrance fees. According to accounting policy the club 30% of the entrance fees is to be capitalized. How will you deal with entrance fees received by Non Profit Organisation?                               1

2. Arup & Kamal are partners in a firm sharing profits in the ratio of 5:3 They had advanced to the firm a sum of Rs 40,000 as a loan in their profit sharing ratio on July 1st 2008. The partnership deed is silent on the question of interest on loan from partners. Compute the interest payable by the firm to the partners assuming the books are closed on 31st Dec. each year.                                                                                                                    1

3. What is capitalization of Average profit method for valuation of goodwill?              1

4. Preet and Jeet share profits in the ratio of 3: 2. Their sales were Rs 120000 for the year ending 31st March 2005 and earned a profit of Rs 12000. On July 2005 Jeet Died, sales up to this date was 80000. Calculate Jeet’s share of Profit.                                           1                     

5. What do you mean by Reserve Capital.                                                                       1

6.  A company redeemed 4000,15% debenture of Rs 100 each at o premium of 10% by converting them into equity shares of Rs 10 each at a premium of Rs2.5 per share. The company also utilized Rs 60000 out of profit to redeem 600 debentures. Give journal entries.                                                                                                                          3

7. Show how would you deal with the building fund of Hindu public School             3       
                   Building fund as on 31st March 2006                                           1000000

                   9% Building Fund Investment as on 31st March 2006                  1000000

                   Donation collected for Building during the year 2006-2007          500000

                   Interest received on building Fund investment 2006-2007             450000

                   Expenditure made on construction of Auditorium 2006-2007       14, 50000 

8. What is calls in Arrear? Discuss briefly its accounting treatment along with its interest thereon.                                                                                                                         3

9. Rave ltd forfeited 1000 equity share of Rs 100 each (Rs 80 called up) issued at a discount of 10% for non payment of allotment of Rs 30  and 1st call of Rs 20.Out of the forfeited share 600 shares were issued to Mimi for Rs 70 ,as Rs 80 paid up. Remaining share was issued for Rs 34000 as fully paid up. Journalize.                                                          4

10. P, Q and R are partners in a firm sharing profit in the ratio of 7:3:2.On 1st April,2006 they decided to share profits in the future in the ratio of 3:2:1. On this date General Reserve was Rs 72600 and loss on revaluation of assets and liabilities was Rs 6600. It was decided that adjustment should be made without altering the figure of assets and liabilities in the balance sheet. Make adjustment by single journal entry.                   4

11. Ajay and Amit are equal partners. Their capital account on 1st January 2007 stood at Rs 85000 and Rs 80000 respectively. The profit of the year 2007 amounted to Rs 50000. Drawings of Ajay and Amit for the year were Rs 8000 and Rs 6000 respectively. Following were the terms of partnership deed
iii. Interest on Drawing was to be charged for 6 months @ 10 % pa

iv. Partners were allowed interest on capital @ 10% pa

      iii     Ajay was entitled to a salary of Rs 9000 and Amit a commission of Rs 2000pa. 

        You are required to prepare Profit and Loss Appropriation Account for the year ending 31st Dec 2007                                                                                                                     4

12. Z Ltd. issued 8,000, 13% debentures of Rs.100 each at par and raised a loan of Rs.12,0000 from Bank, collaterally secured by Rs.150,000  13% Debentures.  How will you show the Debentures in the Balance Sheet of the company assuming that the company has recorded the issue of Debentures as collateral security in the books.

     b)Amta Lld has Rs 2000000 outstanding 13% debentures of Rs 100 each. Company purchase Rs 60000 debenture at Rs 95 and Rs 50000 debenture at Rs 98 from open market for immediate cancellation. Pass journal entries for redemption of debentures.       (3+3)
13. The following is the Receipts Payments account of Gandhi Club, Modi Nagar for the year ending 31st December,2006 :     

                                                                                   6
	               Receipts
	  Rs
	       Payments
	    Rs



To Balance b/d (1.1.2006)

     1,500      By salaries

           1,400


To Subscriptions (2005)

     1,400      By Advertisement
               750


To Subscription   (2006)

     2,100      By Furniture
                         1,300


To Subscription   (2007)

     1,200      By Investments(


1,500


To Donations


                 1,460      By News paper


     50


To Legacy         


     1,540      By Creditors
                        2,000


To entertainment profit

        600      By Balance c/d (31.12.2006)      2,845


To Interest on Investment

          45     







    ______




______







     9,845




9,845
On 1st January 2006, the assets and liabilities were:


Building Rs. 8,000, Furniture Rs. 2, 700, Creditors Rs. 2,000.


Adjustments:

(iv) Total members 250, each paying Rs.10 as Annual subscription

(v) Investment was made on 1st July @10p.a

(vi) Salary has been paid up to 31st October,2006 only.

Prepare Income and Expenditure account for the year ending 31st December, 2006 and Balance Sheet on that date.                                                                                            6

14. X and Y are partner sharing profit and loss in the ratio of 2:1. They admitted Z into partnerships for ¼ share which he acquires equally for X and Y.The following is the extract of their balance sheet as on the date of Z’s admission 


Capital X   Rs 60000

                     Capital Y    Rs 40000

                   General Reserve Rs 18000

                  Goodwill         Rs21000

                   Investment     Rs 16000

On Z’s admission Goodwill of the firm was valued at Rs 30000.Z brings Rs 30000 as capital and only Rs 4000 towards his share of goodwill. 

Investment was taken over by X at Rs 26000.

Pass journal entries in the book of the firm on Z’s admission.                                        6
15. AB Ltd. invited applications for 1,00,000 Equity shares of Rs.10 each, payable as Rs.2 on application, Rs.3 on allotment and the balance on first and final call. Applications were received for 3,00,000 shares and the shares were allotted on a pro-rata basis. The excess application money was to be adjusted against allotment only. M, a shareholder, who had applied for 3,000 shares, failed to pay the call money and his shares were according forfeited and reissued at Rs.8 per share as fully paid. 

     Pass necessary journal entries and cash book.




OR
X Limited invited applications for 11,000 shares of Rs. 10 each issued at 20% premium, payable as:                                                                                                                            8    

On application


-Rs 3 (including Re. 1 Premium)

On Allotment


-Rs. 7  (including Re. 1Premium)

On 1st Call & Final Call
- Rs 2

Applications received for 24,000 shares

Pro rata Allotment were made as follows.

Category I    : One-fourth of the shares applied were allotted 2000 shares.

Category II   : 1/2 the shares applied were allotted 9000 shares.

Remaining applicants were rejected.

 Excess of Application money was adjusted towards sum due on allotment.Mr. Mohan holding 300 shares out of category II failed to pay allotment. His shares were immediately forfeited. All the forfeited shares were reissued for Rs 7, as Rs 8 Paid up. The final call was made thereafter.  Pass Journal entries for above transactions.      

16. The Balance Sheet of A, B & C who are partner in a firm sharing profits according to their capitals as on 31st March,2003 was as under :

	Liabilities
	           Rs.
	Assets
	          Rs.

	Creditor 

A’s Capital

B’s Capital

C’s Capital

General Reserve
	21,000

80,000

40,000

40,000

20,000


	Building 

Machinery

Stock

Debtor                                         Rs.20,000

Less: Provision for B/D              Rs.  1,000
Cash at Bank  
	1,00,000

50,000

18,000

19,000

14,000



	
	2,01,000
	
	2,01,000

	
	
	
	


On that date, B decided to retire from the and was paid for his share in the firm subject to the following :

(a) Building to be appreciated by 20%.

(b) Provision for Bad Debt to be increased to 15% on Debtors.

(c) Machinery to be depreciated by 20%.

(d) Goodwill of the firm is valued at Rs.72,000 and the retiring partner’s share is adjusted through the Capital Accounts of remaining partners.

(e) The Capital of the new firm be fixed at Rs.1,20,000 in new ratio of A & C which is to be 3:2.
Prepare Revaluation Account, Capital Accounts of the partners and the Balance Sheet after retirement of B.










OR
Following is the Balance Sheet of Hari, Ram and Shyam as on 31st December, 2003.
	Liabilities
	              Rs.
	Assets
	             Rs.

	Sundry Creditors

Reserve Fund

Capital Accounts  :

Hari

Ram

Shyam
	3,000
3,200

10,000

5,000

5,000
	Tools

Furniture

Stock

Debtor

Cash at Bank

Cash in hand


	        1,000

        8,000

       6,000

        6,000

        5,000

           200

	
	         26,200
	
	        26,200



Ram died on31st March 2004. Under the partnership agreement, the executor of Ram was entitled to:

(a) Amount standing to the credit of his Capital Account.
(b) Interest on Capital, which amounted to Rs.62.50.
(c) His share of goodwill Rs.3,500.
(d) His share of profit from the closing of the last financial year to the date of death, which amounted to Rs.437.50.
Ram’s Executor was paid Rs.1,800 on 1st April, 2004 and the balance in four equal yearly installments starting from 31.3.2005 with interest @ 6% per annum. Pass the necessary journal entries and draw up Ram’s Account to be rendered to his executor and Ram’s Executor Account  till it is finally paid.                                                                  8. 
PART B (ANALYSIS OF FINANCIAL STATEMENT)
17. What is meant by cash equivalent? Give an example.                                             1
18. A company sold its investment of Rs 300000 at loss of 10%. Calculate the net cash flow and identify the activity.                                                                                           1

19. Debt equity ratio of Honda is 2:1. They Sold a machine of Rs 80000 at a profit of 20%.State whether the present debt equity ratio will increase, reduce or remain unchanged due to this transaction. State one reason                                                1

20.  In a company’s balance sheet, give three item each shown under ‘Reserve and Surplus ‘and ‘Loan and Advance’.                                                                                        3 

21. Prepare a Comparative Income Statement with the help of following information.         4

	Particular
	2005
	2006

	Sales

Cost of Goods sold

 Indirect Expense

Income tax
	600000

50% of sales

30% of Gross profit

30% of net profit before tax
	400000

40% of sales

30% of Gross profit

30% of net profit before tax


22. a) A businessman carries an Average Stock of Rs.90,000. His Stock Turnover Ratio is 8 Times. If he sells goods at a profit of 25% on Sales, find out his profit.

b) Workimg capital of a company are Rs 60000, current ratio is 5:2 and quick ratio is 2:1. Find the value of stock.                                                                                             4

23.From the following Balance Sheets of Lalit & Co.,

Prepare Cash flow Statement :

	Liabilities
	1997(Rs.)
	1998(Rs.)
	Assets
	1997(Rs.)
	1998(Rs.)

	Equity Share Capital

12% Preference Share 

General Reserve

Profit and Loss A/C

Creditors


	2,00,000

50,000

35,000

15,000

23,000
	2,50,000

40,000

55,000

17,000

  5,000
	Goodwill

Building 

Plant

Debtor

Stock

Cash
	30,000

1,00,000

40,000

1,20,000

18,000

15,000
	20,000

80,000

70,000

1,60,000

20,000

17,000

	
	3,23,000
	3,67,000
	
	3,23,000
	3,67,000


Depreciation charged on Plant was Rs.30,000 and on Building Rs.50,000.
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